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ONE CANM ALSO MAKE ARCUMENTS ysTNG LENGTH ConTRACTToN., IMAGINE A FLAG
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WE HAVE THE FollowING STTuvaATTON TN

DESTANCE d IS conTRACTED To Y.

, At
S’ FRAME vata
NN DASMED OBTECTS ARE AT +'=0.
ﬂ> 3 SOLID 0BIICTS ARE AT 4=/t ...
( ! HALFWAY THROUGH THE PHOTON s
76__‘! f TRIP, AT THE ZVSTAVT IT- Rown<ts,

1 \\(
. — /




Lpr mT AL PABRLIN B 2

ToTAL DLSTANCE LIC’HT wwzu: 2 (d’- 5 o'y

= cAt'= 2(d-v
A'f’ Zd,_ _I_Z—J-:"‘A{ /

- 3% yoew /J

C) SINCE THE MIRROR T5 IN S FRAME , THE BOUNCE TN THAT FRAME PRESERVES
FREQUENCTY AND wAVELENGTH, IT's THUS EASZEST To SWITCH FRAMES s'-> S,
THEN BoUnNCE, THEN SWEITCH BACk S->57,
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NOW SWITCH BACK. ACCORDING TO 5! THE EMITTER (THE M1RROR) IS MovING TNV
THE DIRECTTION OF THE PHoToN. LT WILLAGAZN BE RIUESHIFTED
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